

Multiply by 10^{-1} (I)

Find each product.

$$3 \times 10^{-1} =$$

$$2 \times 10^{-1} =$$

$$65 \times 10^{-1} =$$

$$10 \times 10^{-1} =$$

$$5 \times 10^{-1} =$$

$$60 \times 10^{-1} =$$

$$96 \times 10^{-1} =$$

$$42 \times 10^{-1} =$$

$$99 \times 10^{-1} =$$

$$8 \times 10^{-1} =$$

$$66 \times 10^{-1} =$$

$$56 \times 10^{-1} =$$

$$15 \times 10^{-1} =$$

$$95 \times 10^{-1} =$$

$$23 \times 10^{-1} =$$

$$79 \times 10^{-1} =$$

$$47 \times 10^{-1} =$$

$$46 \times 10^{-1} =$$

$$50 \times 10^{-1} =$$

$$66 \times 10^{-1} =$$